



## COEFFICIENT ESTIMATES FOR BI-UNIVALENT FUNCTIONS WITH RESPECT TO SYMMETRIC POINTS

GAGANDEEP SINGH

Department of Mathematics, DIPS College(Co-Educational), Dhilwan (Kapurthala),  
Punjab, India

**Abstract.** In this paper, we introduce certain subclasses of bi-univalent functions with respect to symmetric points in the unit disc  $E = \{z : |z| < 1\}$  and obtain coefficient estimates for the functions in these classes.

**Keywords:** Starlike functions with respect to symmetric points, convex functions with respect to symmetric points, univalent functions, bi-univalent functions, coefficient estimate, subordination.

### 1. INTRODUCTION AND PRELIMINARIES

Let  $U$  be the class of bounded functions of the form

$$u(z) = \sum_{k=1}^{\infty} c_k z^k$$

which are analytic in the unit disc  $E = \{z : |z| < 1\}$  and satisfying the conditions  $u(0) = 0$  and  $|u(z)| < 1$ .

---

Received March 15, 2013

Let  $A$  be the class of analytic functions  $f(z)$  in  $E$  of the form

$$(1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

Further, let  $S$  be the class of functions  $f(z) \in A$  and univalent in  $E$ .

It is well known that every function  $f \in S$  has an inverse  $f^{-1}$ , defined by

$$f^{-1}(f(z)) = z (z \in E)$$

and

$$f(f^{-1}(w)) = w \left( |w| < r_0(f) : r_0(f) \geq \frac{1}{4} \right)$$

where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots$$

Let  $f$  and  $g$  be two analytic functions in  $E$ . Then  $f$  is said to be subordinate to  $g$  (symbolically  $f \prec g$ ) if there exists a bounded function  $u(z) \in U$  such that  $f(z) = g(u(z))$ . This result is known as principle of subordination.

A function  $f \in A$  is said to be bi-univalent in  $E$  if both  $f$  and  $f^{-1}$  are univalent in  $E$ .

Let  $\Sigma$  denote the class of bi-univalent functions in  $E$  given by (1).

Lewin [6] investigated the class  $\Sigma$  of bi-univalent functions and obtained the bound for the second coefficient. Brannan and Taha [2] considered certain subclasses of bi-univalent functions, similar to the familiar subclasses of univalent functions consisting of strongly starlike, starlike and convex functions. They introduced bi-starlike functions and bi-convex functions and obtained estimates on the initial coefficients. Bounds for the initial coefficients of several sub-classes of bi-univalent functions were also investigated in [3,5-10].

In this paper, estimates on the initial coefficients for bi-univalent functions with respect to symmetric points are obtained. This class was motivated by Rosihan M. Ali et al. [1].

In the sequel, to avoid repetition, we assume that  $0 < \alpha \leq 1$ ,  $\lambda \geq 0$ ,  $-1 \leq B < A \leq 1$ ,  $z \in E$ ,  $w \in E$  and  $g(w) = f^{-1}(w) = w - a_2w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots$

**Definition 1.1.** A function  $f(z) \in A$  is said to be in the class  $M_\Sigma^s(\alpha, \lambda; A, B)$  if the following conditions are satisfied:

$$f \in \Sigma \text{ and } (1 - \lambda) \frac{2zf'(z)}{f(z) - f(-z)} + \lambda \frac{2(zf'(z))'}{(f(z) - f(-z))'} \prec \left( \frac{1 + Az}{1 + Bz} \right)^\alpha$$

and

$$(1 - \lambda) \frac{2wg'(w)}{g(w) - g(-w)} + \lambda \frac{2(wg'(w))'}{(g(w) - g(-w))'} \prec \left( \frac{1 + Aw}{1 + Bw} \right)^\alpha.$$

In particular,  $M_\Sigma^s(\alpha, \lambda; 1, -1) \equiv M_\Sigma^s(\alpha, \lambda)$  and  $M_\Sigma^s(1, \lambda; 1 - 2\beta, -1) \equiv M_\Sigma^s(\beta, \lambda)$ .

**Definition 1.2.** A function  $f(z) \in A$  is said to be in the class  $N_\Sigma^s(\alpha, \lambda; A, B)$  if the following conditions are satisfied:

$$f \in \Sigma \text{ and } \frac{2zf'(z) + \lambda 2z^2f''(z)}{(1 - \lambda)(f(z) - f(-z)) + \lambda z(f(z) - f(-z))'} \prec \left( \frac{1 + Az}{1 + Bz} \right)^\alpha$$

and

$$\frac{2wg'(w) + \lambda 2w^2g''(w)}{(1 - \lambda)(g(w) - g(-w)) + \lambda w(g(w) - g(-w))'} \prec \left( \frac{1 + Aw}{1 + Bw} \right)^\alpha.$$

Particularly,  $N_\Sigma^s(\alpha, \lambda; 1, -1) \equiv N_\Sigma^s(\alpha, \lambda)$  and  $N_\Sigma^s(1, \lambda; 1 - 2\beta, -1) \equiv N_\Sigma^s(\beta, \lambda)$ .

**Definition 1.3.** A function  $f(z) \in A$  is said to be in the class  $P_{\Sigma}^s(\alpha, \lambda; A, B)$  if the following conditions are satisfied:

$$f \in \Sigma \text{ and } \left( \frac{2zf'(z)}{f(z) - f(-z)} \right)^{(1-\lambda)} + \left( \frac{2(zf'(z))'}{(f(z) - f(-z))'} \right)^{\lambda} \prec \left( \frac{1 + Az}{1 + Bz} \right)^{\alpha}$$

and

$$\left( \frac{2wg'(w)}{g(w) - g(-w)} \right)^{(1-\lambda)} + \left( \frac{2(wg'(w))'}{(g(w) - g(-w))'} \right)^{\lambda} \prec \left( \frac{1 + Aw}{1 + Bw} \right)^{\alpha}.$$

Obviously,  $P_{\Sigma}^s(\alpha, \lambda; 1, -1) \equiv P_{\Sigma}^s(\alpha, \lambda)$  and  $P_{\Sigma}^s(1, \lambda; 1 - 2\beta, -1) \equiv P_{\Sigma}^s(\beta, \lambda)$ .

For deriving our main results, we need to the following lemma:

**Lemma 1.1.** If  $p(z) = \frac{1 + Au(z)}{1 + Bu(z)} = 1 + \sum_{k=1}^{\infty} p_k z^k$ ,  $u(z) \in U$ ,

then  $|p_n| \leq (A - B)$ ,  $n \geq 1$ .

This result is due to Goel and Mehrok [4].

## 2. COEFFICIENT BOUNDS FOR THE FUNCTION CLASS $M_{\Sigma}^s(\alpha, \lambda; A, B)$

**Theorem 2.1.** If  $f \in M_{\Sigma}^s(\alpha, \lambda; A, B)$ , then

$$(2) \quad |a_2| \leq \frac{\alpha \sqrt{(A - B)}}{\sqrt{2[(1 + \lambda)^2 - \alpha \lambda^2]}}$$

and

$$(3) \quad |a_3| \leq \frac{\alpha^2(A - B)^2}{4(1 + \lambda)^2} + \frac{\alpha(A - B)}{2(1 + 2\lambda)}.$$

**Proof.** From definition 1.1, by principle of subordination, we have

$$(4) \quad (1 - \lambda) \frac{2zf'(z)}{f(z) - f(-z)} + \lambda \frac{2(zf'(z))'}{(f(z) - f(-z))'} = \left( \frac{1 + Au(z)}{1 + Bu(z)} \right)^{\alpha} = [p(z)]^{\alpha}, u \in U$$

and

$$(5) \quad (1 - \lambda) \frac{2wg'(w)}{g(w) - g(-w)} + \lambda \frac{2(wg'(w))'}{(g(w) - g(-w))'} = \left( \frac{1 + Av(w)}{1 + Bv(w)} \right)^\alpha = [q(w)]^\alpha, v \in U,$$

where  $p(z) = 1 + p_1z + p_2z^2 + \dots$  and  $q(w) = 1 + q_1w + q_2w^2 + \dots$

On expanding and equating the coefficients of  $z$  and  $z^2$  in (4) and of  $w$  and  $w^2$  in (5), we obtain

$$(6) \quad 2(1 + \lambda)a_2 = \alpha p_1,$$

$$(7) \quad 2(1 + 2\lambda)a_3 = \alpha p_2 + \frac{\alpha(\alpha - 1)p_1^2}{2}$$

and

$$(8) \quad -2(1 + \lambda)a_2 = \alpha q_1,$$

$$(9) \quad 2(1 + 2\lambda)(2a_2^2 - a_3) = \alpha q_2 + \frac{\alpha(\alpha - 1)q_1^2}{2}.$$

(6) and (8) together gives

$$(10) \quad p_1 = -q_1$$

and

$$(11) \quad 8(1 + \lambda)^2 a_2^2 = \alpha^2(p_1^2 + q_1^2).$$

Adding (7) and (9) and using (11), it yields

$$(12) \quad 4(1 + 2\lambda)a_2^2 = \alpha(p_2 + q_2) + \frac{4(\alpha - 1)(1 + \lambda)^2 a_2^2}{\alpha}.$$

(12) gives

$$(13) \quad a_2^2 = \frac{\alpha^2(p_2 + q_2)}{4\alpha(1 + 2\lambda) + 4(1 - \alpha)(1 + \lambda)^2}.$$

On applying Lemma 1.1 to the coefficients  $p_2$  and  $q_2$ , we can easily obtain (2).

Now subtracting (9) from (7), we get

$$(14) \quad 4(1 + 2\lambda)a_3 - 4(1 + 2\lambda)a_2^2 = \alpha(p_2 - q_2) + \frac{\alpha(\alpha - 1)(p_1^2 - q_1^2)}{2}.$$

Using (10) and (11), (14) yields

$$(15) \quad a_3 = \frac{\alpha^2 p_1^2}{4(1+\lambda)^2} + \frac{\alpha(p_2 - q_2)}{4(1+2\lambda)}.$$

Applying Lemma 1.1 to the coefficients  $p_2, q_2$  and  $p_1$  in (15), (3) is obvious.

For  $A = 1, B = -1$ , Theorem 2.1 gives the following result:

**Corollary 2.1.** If  $f(z) \in M_\Sigma^s(\alpha, \lambda)$ , then

$$|a_2| \leq \frac{\alpha}{\sqrt{(1+\lambda)^2 - \alpha\lambda^2}}$$

and

$$|a_3| \leq \frac{\alpha^2}{(1+\lambda)^2} + \frac{\alpha}{1+2\lambda}.$$

Putting  $A = 1 - 2\beta, B = -1$  and  $\alpha = 1$  in Theorem 2.1, we obtain the following result:

**Corollary 2.2.** If  $f(z) \in M_\Sigma^s(\beta, \lambda)$ , then

$$|a_2| \leq \sqrt{\frac{1-\beta}{1+2\lambda}}$$

and

$$|a_3| \leq \frac{(1-\beta)^2}{(1+\lambda)^2} + \frac{(1-\beta)}{1+2\lambda}.$$

### 3. COEFFICIENT BOUNDS FOR THE FUNCTION CLASS $N_\Sigma^s(\alpha, \lambda; A, B)$

**Theorem 3.1.** If  $f \in N_\Sigma^s(\alpha, \lambda; A, B)$ , then

$$|a_2| \leq \frac{\alpha\sqrt{(A-B)}}{\sqrt{2[(1+\lambda)^2 - \alpha\lambda^2]}}$$

and

$$|a_3| \leq \frac{\alpha^2(A-B)^2}{4(1+\lambda)^2} + \frac{\alpha(A-B)}{2(1+2\lambda)}.$$

The proof of this theorem is similar to as in Theorem 2.1.

4. COEFFICIENT BOUNDS FOR THE FUNCTION CLASS  $P_{\Sigma}^s(\alpha, \lambda; A, B)$ 

**Theorem 4.1.** If  $f \in P_{\Sigma}^s(\alpha, \lambda; A, B)$ , then

$$(16) \quad |a_2| \leq \frac{\alpha \sqrt{(A-B)}}{\sqrt{2[(1+\lambda)^2 - \alpha\lambda]}}$$

and

$$(17) \quad |a_3| \leq \frac{\alpha^2(A-B)^2}{4(1+\lambda)^2} + \frac{\alpha(A-B)}{2(1+2\lambda)}.$$

**Proof.** From definition 1.3, by principle of subordination, we have

$$(18) \quad \left( \frac{2zf'(z)}{f(z) - f(-z)} \right)^{(1-\lambda)} + \left( \frac{2(zf'(z))'}{(f(z) - f(-z))'} \right)^{\lambda} = \left( \frac{1 + Au(z)}{1 + Bu(z)} \right)^{\alpha} = [p(z)]^{\alpha}, u \in U$$

and

$$(19) \quad \left( \frac{2wg'(w)}{g(w) - g(-w)} \right)^{(1-\lambda)} + \left( \frac{2(wg'(w))'}{(g(w) - g(-w))'} \right)^{\lambda} = \left( \frac{1 + Av(w)}{1 + Bv(w)} \right)^{\alpha} = [q(w)]^{\alpha}, v \in U,$$

where  $p(z) = 1 + p_1z + p_2z^2 + \dots$  and  $q(w) = 1 + q_1w + q_2w^2 + \dots$

On expanding and equating the coefficients of  $z$  and  $z^2$  in (18) and of  $w$  and  $w^2$  in (19), we obtain

$$(20) \quad 2(1+\lambda)a_2 = \alpha p_1,$$

$$(21) \quad 2(1+2\lambda)a_3 - 2\lambda(1-\lambda)a_2^2 = \alpha p_2 + \frac{\alpha(\alpha-1)p_1^2}{2}$$

and

$$(22) \quad -2(1+\lambda)a_2 = \alpha q_1,$$

$$(23) \quad 2(1+2\lambda)(2a_2^2 - a_3) - 2\lambda(1-\lambda)a_2^2 = \alpha q_2 + \frac{\alpha(\alpha-1)q_1^2}{2}.$$

(20) and (22) together gives

$$(24) \quad p_1 = -q_1$$

and

$$(25) \quad 8(1+\lambda)^2 a_2^2 = \alpha^2(p_1^2 + q_1^2).$$

Adding (21) and (23) and using (25), it yields

$$(26) \quad a_2^2 = \frac{\alpha^2(p_2 + q_2)}{4[(1 + \lambda)^2 - \alpha\lambda]}.$$

On applying Lemma 1.1 to the coefficients  $p_2$  and  $q_2$ , we can easily obtain (16).

Now subtracting (23) from (21), we get

$$(27) \quad 4(1 + 2\lambda)a_3 - 4(1 + 2\lambda)a_2^2 = \alpha(p_2 - q_2) + \frac{\alpha(\alpha - 1)(p_1^2 - q_1^2)}{2}.$$

Using (24) and (25), (27) yields

$$(28) \quad a_3 = \frac{\alpha^2 p_1^2}{4(1 + \lambda)^2} + \frac{\alpha(p_2 - q_2)}{4(1 + 2\lambda)}.$$

Applying Lemma 1.1 to the coefficients  $p_2, q_2$  and  $p_1$  in (28), (17) is obvious.

For  $A = 1, B = -1$ , Theorem 4.1 gives the following result:

**Corollary 4.1.** If  $f(z) \in P_{\Sigma}^s(\alpha, \lambda)$ , then

$$|a_2| \leq \frac{\alpha}{\sqrt{(1 + \lambda)^2 - \alpha\lambda}}$$

and

$$|a_3| \leq \frac{\alpha^2}{(1 + \lambda)^2} + \frac{\alpha}{1 + 2\lambda}.$$

Putting  $A = 1 - 2\beta, B = -1$  and  $\alpha = 1$  in Theorem 4.1, we obtain the following result:

**Corollary 4.2.** If  $f(z) \in M_{\Sigma}^s(\beta, \lambda)$ , then

$$|a_2| \leq \sqrt{\frac{1 - \beta}{1 + 2\lambda}}$$

and

$$|a_3| \leq \frac{(1 - \beta)^2}{(1 + \lambda)^2} + \frac{(1 - \beta)}{1 + 2\lambda}.$$



## REFERENCES

- [1] Rosihan M. Ali, See Keong Lee, V. Ravichandaran and Shamani Supramanian, Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions, *Appl. Math. Lett.*, **25** (2012), 344-351.
- [2] D.A.Brannan and T.S. Taha, On some classes of bi-univalent functions, in: S. M. Mazhar, A. Hamoni, N. S. Faour (Eds.), *Mathematical Analysis and its Applications*, Kuwait; February 18-21, 1985, in: *KFAS Proceedings Series, Vol.3*, Pergamon Press, Elsevier Science Limited, Oxford, 1988, pp. 53-60. See also *Studia Univ. Babes-Bolyai Math.*, **31** (1986), No. 2, 70-77.
- [3] B. A. Frasin and M. K. Aouf, New subclasses of bi-univalent functions, *Appl. Math. Lett.*, **24** (2011), 1569-1573.
- [4] R. M. Goel and Beant Singh Mehrook, A subclass of univalent functions, *Houston J. Math.*, **8** (1982), No. 3, 343-357.
- [5] Abdul Rahman S. Juma and Fateh S. Aziz, Applying Ruscheweyh derivative on two subclasses of bi-univalent functions, *Int. Journal of Basic and Applied Sciences*, **12** (2012), No. 6, 68-74.
- [6] M. Lewin, On a coefficient problem for bi-univalent functions, *Proc. Amer. Math. Soc.*, **18**(1967), 63-68.
- [7] Xiao-Fei Li and An-Ping Wang, Two new subclasses of bi-univalent functions, *Int. Math. Forum*, **7** (2012), No. 30, 1495-1504.
- [8] H. M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.*, **23** (2010), 1188-1192.
- [9] Q.-H. Xu, H.-G. Xiao and H. M. Srivastava, A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems, *App. Math. Comput.*, **218** (2012), No. 23, 11461-11465.
- [10] Q.-H. Xu, H.-G. Xiao and H. M. Srivastava, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, *Appl. Math. Lett.*, **25** (2012), No. 6, 990-994.